Name:  _____________________________ (please print)

Signature: __________________________

ECE 2300 -- Quiz #3

Shattuck Section – TuTh 8:30-10AM

February 20, 2003

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  If you go on to another page, indicate clearly where your work can be found.  A solution without the appropriate work shown will receive no credit.

3.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

4.  Do not use red ink.  Do not use red pencil.

5.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work

Use the node-voltage method to write a complete set of independent equations that could be used to solve the circuit below.  Define all variables appropriately.  Do not attempt to simplify the circuit.  Do not attempt to simplify or solve your equations.
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ECE 2300 -- Quiz #3 – February 20, 2003 – 8:30-10AM TuTh Shattuck Section Solution

Use the node-voltage method to write a complete set of independent equations that could be used to solve the circuit below.  Define all variables appropriately.  Do not attempt to simplify the circuit.  Do not attempt to simplify or solve your equations.
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Name:  _____________________________ (please print)

Signature: __________________________

ECE 2300 -- Quiz #3

Shattuck Section – TuTh 4-5:30PM

February 20, 2003

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  If you go on to another page, indicate clearly where your work can be found.  A solution without the appropriate work shown will receive no credit.

3.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

4.  Do not use red ink.  Do not use red pencil.

5.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work

Use the node-voltage method to write a complete set of independent equations that could be used to solve the circuit below.  Define all variables appropriately.  Do not attempt to simplify the circuit.  Do not attempt to simplify or solve your equations.
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ECE 2300 -- Quiz #2 – February 18, 2003 – 4-5:30PM TuTh Shattuck Section Solution

Use the node-voltage method to write a complete set of independent equations that could be used to solve the circuit below.  Define all variables appropriately.  Do not attempt to simplify the circuit.  Do not attempt to simplify or solve your equations.
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[image: image7.png]Student Name (please print):
Student ID No:

Student Signature:
Instructor: O. CRISAN

Grade:

ECE 2300 — Circuit Analysis — Spring 2003, Section # 02181
Quiz#3

Wednesday, February 19, 2003

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO !!!

This quiz has four pages, including this page. If you are missing any page,
raise your hand. To complete the quiz you have 22 minutes.

Notes:

1.

Be sure that your name, ID number and the signature appear above.

2. The quiz is closed books and notes!!!

You may use any calculator you choose.

Along with solving the problem, to receive full credit you must:

a) Show all work needed for solution.

b) Clearly indicate your answer (for example, by enclosing it in a box).

¢) Define all variables and parameters, and label them on the circuit diagram.

d) Show all units explicitly, in intermediate numerical results as well as in final
solutions.

e) Use the proper notations for all quantities.

Do not use red ink.

Keep in mind that most of the credit for the problem will be given for showing

the correct methods or equations.

This quiz has one problem, and the total number of points is 100.
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For the shown circuit, write the independent equations for solving the circuit

with the Node-Voltage method.
Do not simplify the circuit and do not try to solve the obtained equations.
Be sure that all quantities used in equations are defined in the circuit.
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